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The maxirnun BLE level was 4, 1.0x MIP order, 4 at the optimal scolution.
The constraint matrix inf-norm is 4, with a dynawmic range of 4.
Time to load data was 0.000 seconds, presolwve used 0.000 seconds,

0.000 seconds in simplex solwver, in total 0.000 seconds.
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73 v.. On @average 2.3 major pivots per refactorization.
q:L\ "é @ The largest [LUICOL w2.2.1.0] fact(B) had 7 NZI entries, 1.0x largest basis.
~ The maximwum BL&E level was 4, 1.0x MIP order, 4 at the optimal solution.
» The constraint matrix inf-norm i= 4, with a dynamic range of 4.
D L L — Time to load data was 0.000 seconds, presolve used 0.016 seconds,

0.000 seconds in simplex solver, in total 0.016 seconds.
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Model name: " - run #1
Objective: Maximize(RO0)

D 7\‘ O) Ei%ﬂ SUBMITTED

Model size: 2 constraints, 2 variables, 4 non-zeros.
Sets: 0 GUB, 0 SOS.

= ‘iﬁ ﬁn % A - Using DUAL simplex for phase 1 and PRIMAL simplex for phase 2.
B I B The primal and dual simplex pricing strategy set to 'Devex'.

PA = 2

5HFTD

'H o 75¢ Relaxed solution 3.75 after 2 iter is B&B base.
=1 £ 70D <
Feasible solution 0 after 3 iter, 1 nodes (gap 78.9%)
\_ %ﬁ‘ﬂf L \é ) Improved solution 3 after 6 iter, 5 nodes (gap 15.8%)
+Optimal solution 3 after 7 iter, 6 nodes (gap 15.8%).

\_ Excellent numeric accuracy ||*|| =0

MEMO: Ip_solve version 5.5.0.5 for 32 bit OS, with 64 bit REAL variables.
In the total iteration count 7, 0 (0.0%) were bound flips.

There were 3 refactorizations, 0 triggered by time and 0 by density.

... On average 2.3 major pivots per refactorization.

The largest [LUSOL v2.2.1.0] fact(B) had 7 NZ entries, 1.0x largest basis.
The maximum B&B level was 4, 1.0x MIP order, 4 at the optimal solution.
The constraint matrix inf-norm is 4, with a dynamic range of 4.

was 0.000 seconds, presolve used 0.016 seconds,

... 0.000 Seconas T snmprex sorvet,|in total 0.016 seconds.

B fFEERODHD
':%bbf:ﬂ%ﬁsﬁ/




—!

& kb =4 77 BH B il
L UNEEZET B A 2B D i
O 3. FFOEMHARELVEEELLY
] %ﬁbb\ﬁzﬁ%ﬁo)tﬁ'ﬁ&
Fnﬁatd)ﬂ’f;(\/ﬁj(%b\
HEMIIZALREDERENHOT L
SFENS VD> EEENIEEIZZ LD
FEXAEMNENDLPEFHANELD
IPH1FE THUVEIRE
RN EOMYIZUN, FIEFEELAEL




—!
ZELWOEHETEIRE N D XA ET

SERED/N—FOITEED
BHIRDYVILIN—FES
STREIZZLDEMEENT

EXIEF TR (CNIZKYI000EDRE—FTvT
HHY25)

O IPOFBZHELHS
BH57IO—FCRERERDS
REREHELDH, LR TRIETS

O O O 0O




—!

HLVEYETERENDXANE2

0 BEDHAXHAKREL
> FRABEAND BN LT gED ?
O HEMIZARETE
>T—ADHEDHHERBST
O XN ENSLY
>3 FREZER ST TR (FFHDEMLZE)
o FE@EMNR OMYIZLY
>ELUFEEGEZFIAL., SFREEZRDD




NXILDEBYETEIZXKSERIL:
HIBRDIZS

0 #y(FoN—TL—X)DJIL—IL
IXINERARIZINLIODNIMFEEAND
£Z17. &5 £3x37AvTI(ZIE. 1A LINFEMNE LD

E—EIF 2T NSD

9 1 6 3 7191811(2|6]14|3|5
6 714 516([113]71418(9]|2
8 711 213|14]15|8|9]|6(7|1

6|3 i 4181916531217

5 7 4 4> 3151617112948
2 6 112(71914|18|3[5]|6
415 2 61451831729
3 917|13]12|6|5]|1|8|4

1 9 5 811121419|7]|5|6|3




PIROEE . ZHDOESR

Xijk: ( | ‘_|'J ﬁlﬂhyﬂ% k 75\/-\%)
0 (N LLst)

//_ 6 7|4
51T4§”0)7X§JL; q 3
X547=1 S

Xeg1=Xego= ...= 0
754177542 s




———————————
D ERE FHIFIF D

Y omyjp=1M=1,...,9,vj=1,...,9)
k=1
i {TjHDTRIZIE 1DLIDWNT NHDDEFEN—DEITAS

9
Y owp=1(Vi=1,...,9,Vk=1,...,9)
j=1

i TTOWTNHIADTRIZEF K B LHE—RIEND

9
Yowipp=1((j=1,...,9,Vk=1,...,9)

=1

i FHONTNAIDTRIZEFE Kk AL ESHE—EIRNS




———————————
D ERE FHEFD2

s+2t+2
> D wip=1
1=s j=t

(V(s,t) = (1,1),(1,4),(1,7),(4,1),(4,4),(4,7),(7,1),(7,4),(7,7),

vk=1,...,9) SORORGGE
£3x3nTavyIc. 6 74
HEKkABEOE—MIIENS 8 701
OHEEOHE 7
5 7 ~ 4
4 ™ 2 6
FOREEHD [ ]
fEDIRMEIRT i ol |5
\ J




SIHDEE  HlFIZD3

ziie = 1 @ATJHNCT CIZETEDRAS>TND L&)

1472512 IXIM A - TLVS

6 714
8
- X | 513
Eﬂﬁﬂl:(i?b‘]\o'&\é —=117)
Xe,7=1 I 2
547 115
3
1 0




—!
2URDEDE : BB

0 E(FfETHERLY
EERNBRE RO HBIRELED T
LTEOHETIE., FFEEEZIT1I DL
O T8 0 LLTHT
0 (#REtERE ) BT ERIbSE4HLTERMEIEES
BHHM?




————
FIHRDENIL: SFRIEDT=HODITX

0 BEERIBELGEHIFIFZRICETET S

T 2FNZIHIAASTLNS O
> 147251295 D E=E

XA LT 9) 1] |6] |3
" "PX=0 (k#9) 6 714
8 711
| [5]3 7
BITAFIIZIZTA A TLD M5 [7) 4
>5{TDMD T RIZIF7 —721 | 6
[ZABZELY /J/ 45 2
" "PX57=0 (j#4) 3
1 9| |5




—!
NXILDEYHETBEIZLKSERIL:

DD DIiZE

o ODBHEL (ASAATYI)DIL—IL
TRABD—EZELEY DAY

1 11 1 11
1/2]|2 2 21212 1(2]|2 2 212|1]2
213/4/5/5/5/4[3[32 2/1314/5/5/5(4[(3[3[2

3|1 3|11/3
2 2|2
11 111
1 1/2
0

3

9

8

—t | —
ngomooow—nmoo

—t | —

0
0




—!
INXI)LDBHFETEIZLSTERIL:

DDRSHLL DIFE

o0 OOCHLEL (AR YI)DIL—IL
YABDOELEEDHFIL, WHIHT HITESIZHNTE
L TCEY DT IROEERT

3 MEHEVTR, HYARLELLE,
T R T 1E0RvR AvRUELL

MENETX, DIEIZHES
SED T A7z E L TELES —

212

BADHFNWATNHHEL, WATLDIRERY
2 EVTHABMFORETERLTIRAZZEY DAY

HEEMEFEORBIZIL, 1IRAULEDBTREANS




———

DINIEENOY % |«

D 4 -EE! EE%G)E%

1
112[2 2
2131455

s [

|~

1
2
T — \///l/
E1ITD 1
$19524 |

F1TD
F2USRS

. )
Y

n=3lND



—!
DD DETE:
RHDERTD
o Bosch (2000)I2&AE R 1t

Xi= {1 (i 1T j Wz ELED)

0 (BDEFE) 1 1] 1
1122 2 2121112
2(3/4|5(5(5(4(3|3]|2

[era:lj\s
1

=R =

[X52:0]\

—t | —
oooocnoolbm—nr w




—!
DD LT DERL:
EHDERTN2

Ve [ 1 (B i TDE K IFTRETE | FILYEES)
0 (ZHLLSH)

—r

—
N
N
N ==k
N
N
—
N ==k

w
-~
(&)
(&)
(&)
S
w
N

CEATDE 177XN

(25| KVUIRES
Y=l J\
CEATDEIISRA

[XZE9FKYInESD
@

om—u{ w
N
w

\

\

S




—!
DINIEENOY K |«
RHDEZETDI

2= { 1 (B jHIDEKISRATE i (TEYEED)

0 (N LAS)

—h
N
N
N ==k
N
N
—h
N ==k

CEBIDELIISRE — L

[XZE11TLY ?ﬁiéj/:—{
. y121:1 1

TR DE2ISRE

[FE41TRYIRFES
@

ololold blojm|=|m




—!
DINXUEENOY 5w |

HllFIZ D1
BIi1TIZENT,
FjAIZHINT,

K JZARAEGMENDDIELLHEL
K JZAIMERENDDIELLSELE

1 1
112|2 2 2|2

213/al5]5[/5]4[3]3

?d%

M

—r
N |=b

N

;

Bl BAFIZHNT, E2o5REH I
HN5NDIEBELHELR

dde

Ya12 T Yao2 T Yaszot
* VYag2t Yao2 t Vo102~ 1

Yy
oomO'IOOON_LNQ)




—!
DD NDEINL
HlHIZ D2
FI1TIZTEWNT, EKIFTREIEE (k+1) I5REZD
EIZRIEL, FORICIZ1 DL LEDBEIANTEE

Bl B |5 (& FIH L TLRBHOHA A BE)
E2SRAITEIISREAD AT EImEILIRIE:
EIZGEL, TORIZIE1IDUED 213lal5]5[5]4[3][3]2
SEF VR Y% -
>V, = 155 s

Yijo = L6 15525 #2552 41%
Yijeaz Yijes2 -+ Yinz | S151&YtaE2 551 LU
OVFNDIEBS 1 | fYsaED
2Yi1 = Yijra2 T Yijuso T E195R5(F

Yo [ EB3FITEEDD



—!
DDBLEDERAL -
HlF9Z D3
2R (i, ) PEESIE, ZNITEi1T(E |50
NFRADISRAIZEENS

1] :
RBYRA(L)BELISRLIZEEND IR IRPIRIEIE
2> (j+1)-3 =F1VF5RXAFDOHIBII =) 213[al5]5/5[4]3]/3]2
S 313 |
< 2[2
X1j=Y1j21 % Y1j11 T Y11 1[1]1
L2 A BRRA5)A
7 [ B1IFARZIC

(BB2OTRA, BIVFARZEFE EBLITARED EEN5
NAGELRBROFEFERDIBIL) BRI iE (& AN ¥
— DEHA




e —
DN DERIE:
FHIF D3 (Fr=)
TR (1,) BELGLIE, ZNEFiTE|jH)D
NI NHDISRRIZEENSD
Ik
BIXLDIEIDDIZREIOWVNTNNZEETNS

FBLIZRRZEEND
oA CDIE=1

X1 =|Vojon + Yojra + Yaja)

" Y12 " Vijos ¥ Yijas T Yija)

FE2O0SRAZEFEND  WIVITARITEENSD
e, CDIE=1 5E, CDIE=1




—!

DO NDERAL
Hl#9ZT D4

RA(1,)) BELELE, ENEFFITE|ID
NI NDIZAZDORABMEICEHEYRFEN

151 -

(Ljp)HhBE~TX

> FKVSRAADEIRF # |
-> 3

X1 = Yijk 1

— | [N | =—a

—t | —h
oomU'IGOOI\J—LI\JOO




—!

Q -~y l—l—l <> ——
DD NDERIE : 5 E
0 COMDERXILEFE
ZuRERLLTHOSIMEERMLTEHOK
L ESCI Py - PRy
Li-tx D EREOEILIL?
0 BRIBEHEIIEZDREAEL
TOK

3

1

— | [N | =—a

—t | —h
oomU'ICDOI\J—LI\JOO




—!
NXILDEYHETBEIZLKSERIL:

DD DIiZE

o ODBHEL (ASAATYI)DIL—IL
TRABD—EZELEY DAY

1 11 1 11
1/2]|2 2 21212 1(2]|2 2 212|1]2
213/4/5/5/5/4[3[32 2/1314/5/5/5(4[(3[3[2

3|1 3|11/3
2 2|2
11 111
1 1/2
0

3

9

8

—t | —
ngomooow—nmoo

—t | —

0
0




	情報システム評価学�ー整数計画法ー
	第３回レポート
	第３回レポート
	第３回レポート
	第３回レポート
	第３回レポート
	整数計画ソルバーとは
	整数計画ソルバーの使い方
	問題の記述形式
	LP形式による問題記述：ルール1
	LP形式による問題記述：ルール2
	LP形式による問題記述：具体例
	LP_Solve の等号開発環境の�インストール
	LP_Solve等号開発環境の使い方
	LP_Solve等号開発環境の使い方
	ログの詳細
	難しい整数計画問題の特徴
	難しい整数計画問題への対処法１
	難しい整数計画問題への対処法２
	パズルの整数計画による定式化：�数独の場合
	数独の定式化：変数の定義
	数独の定式化：制約その１
	数独の定式化：制約その２
	数独の定式化：制約その３
	数独の定式化：目的関数
	数独の定式化：高速化のための工夫
	パズルの整数計画による定式化：�ののぐらむの場合
	パズルの整数計画による定式化：�ののぐらむの場合
	ののぐらむの定式化：準備
	ののぐらむの定式化：�変数の定義その１
	ののぐらむの定式化：�変数の定義その２
	ののぐらむの定式化：�変数の定義その３
	ののぐらむの定式化：�制約その1
	ののぐらむの定式化：�制約その2
	ののぐらむの定式化：�制約その3
	ののぐらむの定式化：�制約その3（続き）
	ののぐらむの定式化：�制約その4
	ののぐらむの定式化：補足
	パズルの整数計画による定式化：�ののぐらむの場合

